
Mérési azonosító Évf. Oszt. Célnyelv Nem BTMN 1. feladat 2. feladat Elérhető össz. Elért össz. Százalék

S939-X875 8 a német Fiú t(o),t(i),t(s), 7 2 40 9 22%

P569-O857 8 a német Fiú 8 6 40 14 35%

F569-R256 8 a német Lány 11 7 40 18 45%

Q651-E165 8 a német Fiú 7 6 40 13 32%

A622-R584 8 a német Fiú 9 3 40 12 30%

K431-P860 8 a német Fiú 11 3 40 14 35%

J495-R616 8 b német Fiú 7 11 40 18 45%

B326-X229 8 b német Fiú 7 11 40 18 45%

L695-N341 8 b német Lány t(o),t(i),t(s), 3 6 40 9 22%

D299-R190 8 b német Fiú 5 1 40 6 15%

M796-C759 8 a angol Lány 20 20 40 40 100%

N421-D419 8 a angol Fiú 16 10 40 26 65%

F447-C115 8 b angol Fiú 20 18 40 38 95%

O224-A827 8 b angol Fiú 19 15 40 34 85%

D282-P893 8 b angol Fiú 15 12 40 27 67%

S922-J263 8 b angol Fiú 20 18 40 38 95%

D618-G184 8 b angol Lány 19 18 40 37 92%

V376-J489 8 b angol Lány 20 17 40 37 92%

W317-H418 8 b angol Fiú 20 20 40 40 100%

M892-F350 8 b angol Fiú 15 14 40 29 72%

F446-U655 8 b angol Fiú 17 15 40 32 80%

W388-A982 8 b angol Lány 17 17 40 34 85%

P657-B486 8 a angol Fiú 15 17 40 32 80%

K953-R847 8 a angol Lány 13 16 40 29 72%

J667-C328 8 a angol Fiú 12 18 40 30 75%

X332-G231 8 a angol Fiú 15 17 40 32 80%

T156-A287 8 a angol Lány 13 18 40 31 77%

K458-V933 8 a angol Fiú 14 17 40 31 77%

O731-S172 8 a angol Fiú 15 18 40 33 82%

E147-R924 8 b angol Lány 8 6 40 14 35%

V484-M770 8 b angol Lány 10 10 40 20 50%

S436-W737 8 b angol Fiú 13 14 40 27 67%



W923-C132 8 b angol Fiú 15 14 40 29 72%

F289-N812 8 b angol Fiú 14 11 40 25 62%

E978-D825 8 b angol Fiú 14 14 40 28 70%


